社会人TOEIC形式で学ぶニュース英語
8月第1週　中国共産党100周年記念式典／熱海で土砂崩れ

	Directions : In this part, words, phrases, or sentences are missing from each text. Four answer choices for each question are given below the text. Select the best answer to complete the text. Then mark the choice (A), (B), (C), or (D) on your answer sheet.



Questions 1-4 refer to the following news article.　　　　　　　　　 　For an audio file, click here.→[image: ]　

	[bookmark: _Hlk65574394]　　Hong Kong police banned a pro-democracy rally on July 1st.  July 1st is the anniversary of Hong Kong’s ［　１　］ to China. (Hong Kong used to be a British ［　２　］ from 1842 to 1997.) They planned to hold an annual rally and a march.  However, this year, China has cracked down heavily to stop such large gatherings for three reasons. 
　　First, the government has ［　３　］ public gatherings in light of the Covid-19 pandemic. They said the city was still at an “emergency” level, meaning there were serious public health risks.　
　　Second, they are trying to silence the pro-democracy movement with the new controversial NSL, or the National Security Law.  NSL was ［　４　］ on Hong Kong on June 30th last year.  



1. 
2. (A) rebirth
(B) redevelopment
(C) refund
(D) return

3. (A) colony
(B) empire
(C) nation
(D) sister city

4. (A) addressed
(B) provided
(C) restricted
(D) suggested

5. (A) expired
(B) imposed
(C) risen
(D) occurred











Questions 5-8 refer to the following news article.　　　　　　　　　 　 

	　Under NSL, around 1,000 activists and lawmakers have been ［　５　］, and 117 have been arrested since last July. For example, pro-democracy media tycoon and a founder of “Apple Daily” Jimmy Lai has ［　６　］to 14 months in prison. Hong Kong used to have a free press, but the pro-democracy newspaper “Apple Daily” shut down its operations on July 1st.
[bookmark: _Hlk77060528]　Also, pro-democracy activist Joshua Wong has ［　６　］to 10 more months imprisonment for joining an unauthorized vigil of the 1989 Tiananmen Square crackdown. (By the way, Agnes Chow, one of the most prominent democracy activists, was released from prison in June, after serving six months over her role in an ［　７　］ demonstration two years ago.)
６　Hong Kong was once one of the ［　８　］capitals of the world. Fearing NSL, 10,800 Hong Kongers moved to Taiwan last year. The UK introduced a new visa in January to give 5.4 million Hong Kong residents, 70% of the territory's population, the right to come and live in the UK, and eventually become citizens 



6. 
7. (A) detentioned
(B) detained
(C) detaining
(D) stayed

8. (A) been sentencing
(B) been sentenced
(C) sentence
(D) sentenced

9. (A) amiable
(B) courageous
(C) illegal
(D) sacred

10. (A) alternative
(B) financial
(C) neutral
(D) sole


















Questions 9-12 refer to the following news article.　　　　　　　　　 　 

	　　Third, this year, July 1st ［　９　］with the centenary celebrations of the Communist Party of China. 
70,000 ［　10　］ gathered in Tiananmen Square. Many people were not wearing masks. The Chinese Communist Party (CCP) was founded in 1921. It came to power in 1949 after a long civil war. 
　The festivities began with a mass singing of patriotic communist songs. There were military jet fly-pasts and cannon salutes.  President Xi Jinping made a speech for an hour,  ［　11　］ the role of the Communist Party in modern China. "Only socialism can save China, and develop China." He also said, “We will never allow anyone to bully, ［　12　］ or subjugate China". 



11. 
12. (A) coincided
(B) devoted
(C) enrolled
(D) surrounded

13. (A) heirs
(B) pedestrians
(C) spectators
(D) tourists 

14. (A) apologized
(B) ignored
(C) reiterated
(D) suppressed

15. (A) admire
(B) oppress
(C) praise
(D) respect























Questions 13-16 refer to the following news article.　　　　　　　　 For an audio file, click here.→[image: ]

	[bookmark: _Hlk79006930]A landslide hit the popular resort town of Atami, killing four people and leaving 80 others　［　13　］.  Japan is a very mountainous and ［　14　］ country, and landslides are not ［　15　］ .  The prime minister Yoshihide Suga said, “Police, firefighters and soldiers from the self-defense forces are trying to ［　16　］ survivors. We want to rescue as many victims as soon as possible.” 



16. 
17. (A) miss
(B) missing
(C) missed
(D) mystified 

18. (A) densely popular
(B) densely popularity
(C) dense population
(D) densely populated

19. (A) common
(B) normal
(C) ordinary
(D) unusual

20. (A) dedicate
(B) locate
(C) proceed
(D) sustain

























【模範解答】社会人TOEIC形式で学ぶニュース英語
8月第1週　中国共産党100周年記念式典／熱海で土砂崩れ

1-4の問題は、次のニュース記事に関するものです。
	　香港警察は、７月１日の民主主義推進運動を禁止した。7月１日は香港の中国への返還［１］記念日である。（香港は1842年から1997年までイギリスの植民地［２］であった。）人々は毎年の集会と行進を計画していた。しかし今年は３つの理由により、中国はそのような大規模な集会を止めさせるために、厳しく取り締まりをしている。
　第一の理由として、政府はコロナウィルスの大流行を理由に、市民の集会を制限している［３］。彼らは、香港がまだ「緊急事態」のレベルにあり、それは市民の深刻な健康リスクがあることを意味すると言った。
　第二の理由として、彼らは、議論となっている新しい国家安全維持法を引き合いに出して、民主主義推進運動を沈黙させようと努めている。国家安全維持法は、昨年の6月30日に香港で課された［４］。



１．正解(D)    return：返還　　(A)rebirth：再生　　(B)redevelopment：再開発　　(C)refund：払い戻し

２．正解(A)    colony：植民地　　(B)empire：帝国　　(C)nation：国家　　(D)sister city：姉妹都市

３．正解(C)    restrict：制限する
　　　　　　　　(A)address：「~に取り組む・対処する」「~に演説をする・語りかける」
　　　　　　　　(B)provide A with B：「Bに対してAを提供する」
　　　　　　　　(D)suggest：「~を提案する」

４．正解(B)     impose：（税金・罰・法律などを）課す
　　　　　 ここでは「be動詞＋imposed on ～（～に課される）」のように受動態となっているが、
　　　　　 通常は「impose A on B」で「A（税金・罰・法律）をB（人）に課す」を表す。
(A) expire：自動詞で「期限が切れる」
(C) rise：自動詞で「上がる・のぼる」
(D) occur：自動詞で「（事件や出来事などが）起こる」
　　　　　 問題を解くテクニックとして、(A)(B)(D)は全て自動詞で受動態をとることはありえない。
　　　　　 消去法で他動詞の（B）を選ぶ、という方法もある。

※1と2は易しいサービス問題なので正解を目指したい。
　3と4は難しめの単語だが、ビジネスの場面ではよく使う単語なので、しっかりおさえておきたい。







5-8の問題は、次のニュース記事に関するものです。
	　国家安全維持法下において、昨年の7月から、約1000人の活動家と政治家が勾留され［５］、117人が逮捕された。例えば、民主主義推進派のメディア界の大物であり、「苹果日報」の創設者であるジミー・ライ氏は、懲役14ヶ月の判決を受けた［６］。香港は、以前は自由な報道を許可していたが、民主主義推進派の「苹果日報」は7月1日に営業を停止した。
　また、民主主義推進派の活動家、ジョシュア・ウォンも、1989年の天安門弾圧事件の非認可の追悼集会に出席した罪で、懲役10ヶ月以上の判決を受けた［６］。（ところで、最も有名な民主活動家の一人であるアグネス・チョウ氏は、２年前に違法の［７］デモでの役割により６ヶ月間服役した後、今年の６月に刑務所から釈放された。）
　香港はかつて、世界の金融の［８］中心の町だった。国家安全維持法を恐れて、10,800人の香港人が昨年、台湾に引っ越した。イギリスは今年の１月、香港の人口の7割に当たる540万人の香港市民に対し、イギリスにやってきて住んで最終的にはイギリス市民になれるという新しいビザを導入した。



５．正解(B)      detain：「～拘留する・留置する・居残りさせる」
受動態の形をとって “have been detained”（勾留されている）となる。

教育関係の文脈で、 “The teacher detained the student.”と言うと「その教師はその生徒を居残りさせた」の意味になるが、ほとんどのニュースでは“The police detained the suspect.”のように「警察は容疑者を勾留した」の文脈で出てくる。(A)detentionは名詞で「拘留・留置」のため、detentionedという語は存在しない。（名詞にedを付けている時点でおかしい。）　空欄に(C)detainingを入れると、「1000人の活動家と政治家が（誰かを）勾留している」の意味になるが、空欄［５］の後に目的語がなく、誰を勾留しているのかが書かれておらず、意味的にもdetainingを入れるのはおかしい。(D)stayは自動詞で「とどまる、（その場に）いる」の意味があるが、be動詞の後に来て受動態の形をとることは、ない。

６．正解(B)   be動詞＋sentenced to ~：「~の判決を受ける」　この熟語で覚えると良い。
　　ちなみに 「be動詞＋sentenced to death」で「死刑判決を受ける」の意味。

“sentence A to B”で「A（人）にB（刑罰）の判決を言い渡す」の意味となるが、殆どの場合において
受動態で用いる。

７．正解(C)　　illegal：違法の
　　　　　　　(A)amiable：友好的な　　(B)courageous：勇敢な　　(D)sacred：聖なる

８．正解(B)    financial：財政の、金融の
　　　　　　　(A)alternative：代わりの・代理の　　(C)neutral：中立の　　(D)sole：唯一の


※７は基本的なサービス問題なので、ぜひとも正解を目指したい。




9-12の問題は、次のニュース記事に関するものです。
	　3つ目の理由として、今年の7月1日は中国共産党の100周年記念祝典と日程が重なった［９］。
７万人の観客［10］が天安門広場に集まった。多くの人々がマスクを身につけていなかった。中国共産党は1921年に設立され、長い内戦の末の1949年に権力を握った。
　 祝典は、愛国的な共産主義の歌の大合唱とともに始まった。軍隊による軍用機の編隊飛行や礼砲もあった。習近平国家主席は1時間の演説をし、現代中国における共産党の役割を強調した［11］。「社会主義だけが中国を救い、中国を発展させることができるのです」彼はこうも言った。「私達は中国を虐め、虐げ［12］、武力で従属させるいかなる存在も許しません」



９．正解(A)   coincide with～：～と同時に起こる・～と一致する／名詞形coincidenceは「偶然の一致」
(B)devote A to B：「AをBに捧げる」　(C)enroll A in B：AをBに入会させる・登録する
(D)surround～：～を囲む

１０．正解(C)  spectator：観客
　　　　　　　(A)heir：後継者　　(B)pedestrian：歩行者　　(D)tourist：旅行者・観光客

１１．正解(C)  reiterate：何度も繰り返し強調して言う
　　　　　　　(A)apologize：謝罪する　　(B)ignore：無視する　　(D)suppress：抑制する

１２．正解(B)   oppress～：～を虐げる・抑圧する
　　　　　　　(A)admire, (C)praiseは共に「称賛する」　　(D)respect：尊敬する

13-16の問題は、次のニュース記事に関するものです。
	　　地滑りが人気リゾート市の熱海を襲い、4人が亡くなり、80人が行方不明［13］となった。日本は山がちで、人口密度の高い［14］国であり、地滑りは珍しい［15］ことではない。菅義偉首相は、「警察・消防隊・自衛隊員達が生存者を探す［16］ことに努めています。私達はできるだけ早く、多くの犠牲者を救いたいと考えています」と語った。



１３．正解(B)    missing：形容詞で「行方不明の」　この形で覚えると良い。

１４．正解(D)    densely populated：人口密度の高い
　　　　　　　　形容詞denseの直後に来る名詞は、population, fog, forestくらいである。
　　　　　　　　dense population(高い人口密度)、dense fog(濃い霧)、dense forest(鬱蒼とした森林)
　　　　　　　　densely populated countryで「人口密度の高い国」という定番表現である。

１５．正解(D)    unusual：珍しい（同意語にrare, extraordinaryなど）
　　　　　　　　(A)common：一般的な・共通の　　(B)normal：普通の　　(C)ordinary：普通の

１６．正解(B)　　locate～：（位置などを）つきとめる、（場所などを）確認する
　　　　　　　　(A)dedicate：～を捧げる　　(C)proceed：～を続行する　　
(D)sustain：～維持する・持続させる（形容詞形：sustainable　持続可能な）
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